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Name: __________________________________


1
In the accompanying diagram of a unit circle, the ordered pair [image: image1.png]


 represents the locus of points forming the circle.  Which ordered pair is equivalent to [image: image2.png]


?
[image: image3.png]



	1)
	[image: image4.png](sih & cos &





	2)
	[image: image5.png](cot &tan &





	3)
	[image: image6.png](tan &cot &





	4)
	[image: image7.png](cos &sin &







2
The terminal side of [image: image8.png]


, an angle in standard position, intersects the unit circle at [image: image9.png]


.  What is the value of [image: image10.png]sec &



?

	1)
	[image: image11.png]




	2)
	[image: image12.png]345





	3)
	[image: image13.png]




	4)
	[image: image14.png]






3
Point [image: image15.png]I



 is on the unit circle whose center is the origin.  If [image: image16.png]


 is an angle in standard position whose terminal ray passes through point A, what is the value of [image: image17.png]


?

4
On the unit circle shown in the diagram below, sketch an angle, in standard position, whose degree measure is 240 and find the exact value of [image: image18.png]sin 240°



.

[image: image19.png]> <

(1,0)
> X






5
In the accompanying diagram of a unit circle, the ordered pair [image: image20.png]


 represents the point where the terminal side of [image: image21.png]


 intersects the unit circle.

[image: image22.png]



If [image: image23.png]


, what is the value of x in simplest form?

	1)
	[image: image24.png]




	2)
	[image: image25.png]




	3)
	[image: image26.png]




	4)
	[image: image27.png]






6
In the accompanying diagram of a unit circle, the ordered pair [image: image28.png]


 represents the point where the terminal side of [image: image29.png]


 intersects the unit circle.

[image: image30.png]



If [image: image31.png]1509



, what is the value of x?

	1)
	1

	2)
	[image: image32.png]




	3)
	[image: image33.png]




	4)
	[image: image34.png]






7
Point [image: image35.png]


 is located in the second quadrant on the unit circle.  Determine the exact value of t.

8
In the accompanying diagram of circle O, [image: image36.png]COA



 is a diameter, O is the origin, [image: image37.png]


, and [image: image38.png]msBOA = 30



.  What are the coordinates of B?

[image: image39.png]



	1)
	[image: image40.png]




	2)
	[image: image41.png]£





	3)
	[image: image42.png]RN
o





	4)
	[image: image43.png]£







9
In the unit circle shown in the accompanying diagram, what are the coordinates of [image: image44.png]


?

[image: image45.png])




	1)
	[image: image46.png]




	2)
	[image: image47.png]




	3)
	[image: image48.png](-30,-210)





	4)
	[image: image49.png]ﬁ_z
<







10
What is the image of (1,0) after a counterclockwise rotation of 60°?

	1)
	[image: image50.png]




	2)
	[image: image51.png]£





	3)
	[image: image52.png]




	4)
	[image: image53.png]






11
In the diagram of a unit circle below, point A, [image: image54.png]


 represents the point where the terminal side of [image: image55.png]


 intersects the unit circle.

[image: image56.png]



What is [image: image57.png]


?

	1)
	30º

	2)
	120º

	3)
	135º

	4)
	150º



12
In the accompanying diagram of a unit circle, the ordered pair [image: image58.png]


 represents the point where the terminal side of [image: image59.png]


 intersects the unit circle.

[image: image60.png]



What is [image: image61.png]


?

	1)
	210

	2)
	225

	3)
	233

	4)
	240



13
In the diagram below of a unit circle, the ordered pair [image: image62.png]ﬁ_z
<



 represents the point where the terminal side of [image: image63.png]


 intersects the unit circle.

[image: image64.png]



What is [image: image65.png]


?

	1)
	45

	2)
	135

	3)
	225

	4)
	240



14
In the accompanying diagram, point [image: image66.png]P(-0.6,-0.8)



 is on unit circle O.

[image: image67.png]



What is the measure of angle [image: image68.png]


 to the nearest degree?

	1)
	143

	2)
	217

	3)
	225

	4)
	233



15
If [image: image69.png]


 is an angle in standard position and its terminal side passes through the point [image: image70.png]


 on a unit circle, a possible value of [image: image71.png]


 is

	1)
	30°

	2)
	60°

	3)
	120°

	4)
	150°



16
If [image: image72.png]


 is an angle in standard position and its terminal side passes through point [image: image73.png]


 on the unit circle, then a possible value of [image: image74.png]


 is

	1)
	60º

	2)
	120º

	3)
	150º

	4)
	330º



17
In the accompanying diagram of circle O, point O is the origin, [image: image75.png]


, [image: image76.png]i{o)




, and [image: image77.png]TOY



 is a diameter.  If the coordinates of point J are [image: image78.png]RN
o



, how many degrees are in [image: image79.png]ms IOV



?

[image: image80.png]




18
In the accompanying diagram, point [image: image81.png]P(0.6,-0.8)



 is on unit circle O.  What is the value of  θ, to the nearest degree?

[image: image82.png]




19
Which diagram represents an angle of [image: image83.png]Bl



 radians in standard position?

	1)
	[image: image84.png]




	2)
	[image: image85.png]




	3)
	[image: image86.png]




	4)
	[image: image87.png]






20
In the accompanying diagram of a unit circle, the ordered pair [image: image88.png]


 represents the point where the terminal side of [image: image89.png]


 intersects the unit circle.

[image: image90.png]



If [image: image91.png]


, what is the value of y?

	1)
	[image: image92.png]




	2)
	[image: image93.png]




	3)
	[image: image94.png]




	4)
	[image: image95.png]






21
The accompanying diagram shows unit circle O, with radius [image: image96.png]


.

[image: image97.png]



Which line segment has a length equivalent to [image: image98.png]cos &



?

	1)
	[image: image99.png]AB





	2)
	[image: image100.png]oD





	3)
	[image: image101.png]ocC





	4)
	[image: image102.png]oA







22
In the diagram below, the length of which line segment is equal to the exact value of [image: image103.png]


?

[image: image104.png]



	1)
	[image: image105.png]TO





	2)
	[image: image106.png]TS





	3)
	[image: image107.png]OR





	4)
	[image: image108.png]OS5







23
In the accompanying diagram, [image: image109.png]PR



 is tangent to circle O at R, [image: image110.png]05 L OR



, and [image: image111.png]PR 1 OR



.

[image: image112.png]



Which measure represents [image: image113.png]


?

	1)
	SO

	2)
	RO

	3)
	PR

	4)
	QS



24
The accompanying diagram shows unit circle O, with radius [image: image114.png]oD



.

[image: image115.png]A
Nl




Which line segment has a length equivalent to [image: image116.png]


?

	1)
	[image: image117.png]AD





	2)
	[image: image118.png]BC





	3)
	[image: image119.png]oA





	4)
	[image: image120.png]OF
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[image: image121.png]
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018514siii

4
ANS:


[image: image122.png]00



  [image: image123.png]



REF:
061033a2
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7
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[image: image124.png]


[image: image125.png]



REF:
011931aii

8
ANS:
2
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9
ANS:
1

[image: image126.png]cos(180° +30%) =

sin(180° + 30%)

-05
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12
ANS:
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[image: image127.png]


.  Since the terminal side of θ  lies in Quadrant III, [image: image128.png]8=-150°.



  Coterminal angles differ by multiples of 360°.  [image: image129.png]-150 + 360 = 210



.  or  [image: image130.png]


.  [image: image131.png]sin(-30) = —sin 30 = sin(180 +30) =sin 210



.
REF:
080510b
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[image: image132.png]


 or [image: image133.png]-
2

8=sin

8=60"
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ANS:


307.  [image: image134.png]cos
8=cos0.6
530




.  Since the terminal side of θ lies in Quadrant IV, [image: image135.png]cos 8 = cos(360° - 6)
cos(360 - 53)
= cos 307

07




.   or  [image: image136.png]


.  Coterminal angles differ by multiples of 360°.  [image: image137.png]


.
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